Model answer test seven (G):

From the IR spectrum:

· Absence of a strong, sharp peak resulting from a C=O stretch at 1700cm-1  indicates no carbonyl group, therefore not butanoic acid or methyl propanoic acid
· Presence of a broad strong peak at 3300-3600 cm-1 resulting from an OH stretch indicates an OH group therefore supports the other 2 molecules
From the Mass Spec:

· The molecular ion peak is 88 m/z. This indicates the molar mass of the compound is 88 g mol-1 and matches both remaining compounds of pentan-1-ol and 3-methylbutan-1-ol
· The main fragment peaks are 73 m/z (C4H9O+ ), 43 m/z (C3H7+) , both of which are contained in both remaining compounds
From the C13 spec:

· 4 peaks on the 13C spectra indicating 4 different/unique C environments, which corresponds to 3-methylbutan-1-ol but not pentan-1-ol (would have 5 peaks as 5 unique C environments 
Therefore the unknown E 3-methylbutan-1-ol
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